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AN MOISH = A 0

HM: JMSMASH (2L Z/HE)
Sl MRHS 84 CEEEED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ORNRSEZI S A4 3= 2 HEoz s
3,000,000& 3,000
2SI ¢E =4 KA 22l
5,000,000& 5,000
c EHP2e 2 KXY 18,320
AE AH DA 6,400,000 6,400
g ZIE 285 A2 F WAHHI
4,000,000& 4,000
HNE QHBE XU (3E8)
1,600& 6 Al 2- %200 1,920
MY Rl O%E, HOIE £
500,000& x12& 6,000
O 2| 200,000,000& 200,000
ZSAIM =3 A& 1,750,000 1,320,000 430,000
307 2iz2to| A 1,750,000 1,320,000 430,000
02 QIZIA AAIE E X 1,750,000 1,320,000 430,000
O&dJd skat XI&Hl 800,000,000 800,000
OoXgd=s4d XN 700,000,000 700,000
Oda=sZd=s=Us &8 24| 250,000,000& 250,000
e Mg 4 165,044 154,900 10, 144
101 2121 H] 10,144 0 10, 144
04 JI2tHIZ22NEE S 10,144 0 10, 144
O HESEA XA 10,144
A= 60,240 x1H x20L x6 & 7,229
-F5d 60,240 »1&H *253 1,506
-AXREsEsIIE 60,2403 *1H 6L 362
-AEE J|2a82=2 9,097,000 *11.5% 1,047
301 et A= 2,400 2,400 0
09 HAIAHI BEAZ 2,400 2,400 0
O&= HOQ MMM =t
60,000& 20 23| 2,400
307 QI2t0| ™ 152,500 152,500 0
02 QI2tAAMAIE E =X 28,500 28,500 0
OZN=E HHNMSUHE HIMXA
28,500,000 28,500
03 AU EESIHEX 124,000 124,000 0
OXMAUM=E 2| 124,000,000 124,000
stNHE 4 125,000 125,000 0
307 212t0| & 105,000 105,000 0
02 DIZFEAAIE E X 105,000 105,000 0
OESIAIZD] L DNEHH = - = -0 HOAHA
2l 90,000,000 90,000
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S2A: MOISHEAS D
HM: JMSMASH (2L Z/HE)
el 2N 84 (el @2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OZ=sMAAE EHIXS 15,000,000 15,000
308 XAHXIGHHM SO0l & 20,000 20,000 0
08 wW=J|&0tiseeE 20,000 20,000 0
ONM=EEM 4 =&H| XN& 20,000,000 20,000
ZSAIAHEUE 700,000 0 700,000
201 et d| 13,000 0 13,000
01 AR 22l ] 13,000 0 13,000
O1.48t==2H| 13,000
-H133 ZESAISIH S Lt
13,000,000 13,000
301 LBt A= 522,000 0 522,000
09 SHAIAHI EAZ 522,000 0 522,000
OHMI13s ZEAUMUZ SHsS EFHIHEHI
18,000,000 290 S = 522,000
307 2Iz2t0| A 165,000 0 165,000
04 SIZ2ISHAAISH E & 165,000 0 165,000
OHMI133 ZEAAM=UZ H=AH|
165,000,000 165,000
ZTSAM=S 24 2,222,000 1,818,500 403,500
307 212t0| & 2,222,000 1,818,500 403,500
03 QIZEHY X BHESIHIEX 2,222,000 1,818,500 403,500
OZSANMES 29| 2,222,000,000& 2,222,000
O MEY KA BHX KIR<E > 26,808 26,810 N2
J| 13,404
& 4,021
Al 9,383
307 2iz2to| A 26,808 26,810 N2
J| 13,404
= 4,021
Al 9,383
02 QIZ2IA AAIE E X 26,808 26,810 N2
OZofel MEtHd X=X BEXI(lAd])
26,808,000 26,808
J| 13,404
& 4,021
Al 9,383
MEHSIE 1,699,432 1,513,542 185,890
J| 647,184
&< 55,210
Al 997,038
AED L 2E MEEUE X3 124,600 124,600 0
307 2Iz2t0| & 124,600 124,600 0




EX: MOISH=ASEY
HM: JMSMASH (2L Z/HE)
chelr MEHSTE CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
04 SIZ2ISHAAIH E & 124,600 124,600 0
OAIED & 2E MEMSUZ
155,750,000& *80/ 100 124,600
MEHE 4 26,300 17,200 9,100
201 Bt 12,000 10,900 1,100
01 AP 2t 2| H| 12,000 10,900 1,100
O1.48t4=2H| 7,200
-MX S Let==H| 4,000,000 4,000
-HSAIEEAD DI/AMHA 01 1,200,000 1,200
“ZZHSNE e ALY
2,000,000& 2,000
O5.2 &l 4,800
-HEXNE SRFA A2UAZ LA S 4!
8,000 x5H~10 x12& 4,800
202 044l 6,300 6,300 0
01 2L Y| 6,300 6,300 0
ONMESXNH =80 H|
60,000 *5H 3L %7 3| 6,300
207 I & 8,000 0 8,000
01 d32E | 8,000 0 8,000
OXHZ20NSHLHEH FE2Y EBIEH ZAEY
8,000,000 8,000
SAAD E5E MESdsUHa A& 60,100 60, 100 0
307 gizto| A 60,100 60, 100 0
02 Q2B AMAIE E =X 40,500 40,500 0
OEXA EsE MEsUE LKA
40,500,000 40,500
04 CIZ2tSHALALS B = 19,600 19,600 0
OEXIAI &2 MEHsUHI
24,500,000 «80/100 19,600
A=C0MEN=UlHe &I A& 100,000 100,000 0
307 2iz2to| A 100,000 100,000 0
02 QIZIA AAIE E X 100,000 100,000 0
OEdSsTMEYU EHIIXS
100,000,000 100,000
TSAM=S SsHSEE M=z NS 15,000 7,000 8,000
307 2Iz2to| A 15,000 7,000 8,000
04 SIZ2SHAAIH E & 15,000 7,000 8,000
ORZEANH=E SHSE2AS MU
18,750,000 *80/100 15,000
IS SHES Z2EUE =203 XA 19,000 19,000 0




2AM: MOotSH &t

=
=
=
=
PN

&t
Hi: JRMLSH (L2 /HUS)
ool MEHSTE (29l & 2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 19,000 19,000 0
04 DI2HHALALSE E X 19,000 19,000 0
O=Zg SHs S8Ug =20
23,750,000% *80/100 19,000
A0 L= XA 15,000 14,490 510
307 21201 A 15,000 14,490 510
04 DIZHHALALSE E X 15,000 14,490 510
OaZH AHAZ20H8 18,750,000 *80/100 15,000
FUM HHAE= =X KA 9,000 9,800 A 800
307 glz2tol & 9,000 9,800 A 800
04 DI2HHALAISE E X 9,000 9,800 A 800
OgLet A= =T
11,250,000& %80/100 9,000
EE HHA A= MlE X& 16,500 16,380 120
307 gl2tol & 16,500 16,380 120
04 DI2ZHHALALSE E X 16,500 16,380 120
OZg LHAM M43
20,625,000% *80/100 16,500
SAHZAE ZEAIR ZDI0E KR 40,000 39,900 100
307 21201 A 40,000 39,900 100
04 DIZHHALALSE E X 40,000 39,900 100
O AZALZ ZEAIR 2103
50,000, 000& 80/ 100 40,000
UCHMEH FSX X X (2SXE)<EX> 303,680 319,760 A 16,080
J| 128,040
Al 175,640
307 21201 A 303,680 319,760 216,080
J| 128,040
Al 175,640
02 QB AAFEX 303,680 319,760 A 16,080
QMEMSX S RHUHXI(124H]) 303,680,000 303,680
J| 128,040
Al 175,640
HEHSWASIXI<E > 134,400 134,400 0
< 17,280
Al 117,120
307 gl2tol & 134,400 134,400 0
< 17,280
Al 117,120
02 It M AHE L 134,400 134,400 0
OMexsna2IiA 134,400, 000& 134,400
< 17,280




2N

X ZH
S =

el

A

A OF 2 7 = &4 21 Dt
SAYUSH(2LBB/HR)
EYERE

SA - FE - BI(EA) - NRAY - By 0l &t San DS
| A 17,720
HEXMMENSIZA WX (2SXE)<BE> 273,312 273,312 0
J| 115,236
Al 168,076
307 gl2tol & 273,312 273,312 0
J| 115,236
Al 168,076
02 HAHFHYANEEX 273,312 273,312 0
O0Z2Y MeiHs gsX3A(2AH])
273,312,000 273,312
J| 115,236
Al 168,076
AE XA S F<E > 345,440 322,880 22,560
J| 241,808
= 31,090
Al 72,542
301 e Az 345,440 322,880 22,560
J| 241,808
< 31,090
Al 72,542
09 AL HIE A= 345,440 322,880 22,560
OAx2Z=2x08A XA 345,440,000& 345,440
J| 241,808
= 31,090
Al 72,542
UM 100M A SHEH2HH X JA<EE> 162,100 0 162, 100
J| 162,100
308 XXM SO A 162,100 0 162,100
J| 162,100
10 I/ 2 SO0CHetE & X 2 E AL HI 162,100 0 162, 100
02018 =21 X100 MSASHE AL
162,100,000& 162,100
J| 162,100
Oz4a dEXH=sUs &8 Z2dH N2 22,800 22,880 A80
307 glz2tol & 22,800 22,880 A 80
02 HAF LA EX 22,800 22,880 A 80
Oonza st =d8X& 22,800,000 22,800
25 028 dEMsUE FotEH X2 9,400 9,040 360
301 et A= 9,400 9,040 360
09 &AL HI B &S 9,400 9,040 360
o4& Hzdds s &It 9,400
—AlCH 7,000 20 102 1,400
-u Sl 20,0003 20 103 4,000
-= 2| 20,0002 *20ZE 102 4,000




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
MEYX S DSH X S<E E> 22,800 22,800 0
== 6,840
Al 15,960
307 2Iz2t0| A 22,800 22,800 0
o= 6,840
Al 15,960
02 QIZHEAAIRE E X 22,800 22,800 0
OMEYEXNETA WEH XA 22,800,000 22,800
& 6,840
Al 15,960
2UHQ AXZX NF 1,978,700 1,748,000 230,700
& 50,000
Al 1,928,700
=272 H=0aE Wz 2 S 140,700 21,660 119,040
201 LBt ]| 118,900 18,420 100,480
01 AP 22| d| 116,580 18,420 98, 160
O1.dbtx=2H| 84,300
-AIXOIAE B2 H| 2,700,000& 2,700
-2t A2 (HE 29| 12,000,000 12,000
“HESHSYLHE ARA 20
60,000 x40 x2S HS 69,600
O5.83&H| 2,880
-2 MHs & HA=20UE X A24AZ2LA 2
Al 8,000 x3Hx10L 128 2,880
O6.¢x2 29,400
-2=E JSHAF XS AEHAMSI X
100,000 x1CH 12 1,200
“BESHSYLUWE FHT HA AR
800,000 x29CH 23,200
“BE SHSUL 0S4 0IBME 2Y
5,000,000& 5,000
02 B232%H| 2,320 0 2,320
O1.2Z22=22 Al 2,320
CHEEHSULYS BHL LE
2,000 x40 x29MSH = 2,320
202 o4 | 3,240 3,240 0
01 2L I 3,240 3,240 0
ZAEHN=US KA L R2FE Y|
60,0003 *3H *3 63| 3,240
301 et A= 18,560 0 18,560
09 HAIAHI B A2 18,560 0 18,560
OBISHSZLUS AT 24
8,000 x40H *2AIx29 S H =S 18,560
StHSH 8X&Ed X8 K& 15,000 15,000 0




AN MOISH = A 0
I MNE=

G 2 AXX NF (SH9: &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
201 Yute F | 15,000 15,000 0
03 A2 | 15,000 15,000 0
OdctHsH dXEH FXE X
15,000,000& 15,000
ALXFD 243 X 962,000 986,000 A 24,000
201 et d| 900,000 900,000 0
01 AFR 2t 2| H| 900,000 900,000 0
O1.48t=2H| 900,000
-ALXE S8 AE EE 900,000,000& 900,000
307 QI2t0| & 62,000 86,000 A 24,000
02 QI2tAAMAIE E =X 62,000 86,000 A 24,000
OZE=20t2&)| &43 XA 9,000,000& «63| 54,000
ORSAEHA AMSAZHE K&
8,000,000& 8,000
ZSAIED AIE0HE 8= 332018 X& 17,000 17,010 A 10
307 2Iz2t0| & 17,000 17,010 A 10
04 SIZ2ISHAAISH E & 17,000 17,010 A 10
OXSAIZD AEHE =2 A3
21,250,0002 *80/100 17,000
S22 ZstoloietEUa K& 100,000 91,350 8,650
307 QI2t0| ™ 100,000 91,350 8,650
04 CIZ2HSHALALS B X 100,000 91,350 8,650
OS2I ZLeolHDIHEL S
125,000,000 *80/ 100 100,000
LHO A AFCHR L ILSHA|IAHH M=24820Hs K& 30,000 30, 100 A 100
307 QI2t0| & 30,000 30, 100 A 100
04 CIZ2tSHALALS B X 30,000 30, 100 A 100
OLHA A AttH L IISEAEHH M2 A2
37,500,000 «80/100 30,000
TSAIEE M=2JI=Ud & =2HES s XS 21,000 21,000 0
307 gizto| & 21,000 21,000 0
04 CIZ2tSHALALS B = 21,000 21,000 0
OZSAEE M2EIEUHE & Z2HEA WE
& 26,250,0002 *80/100 21,000
N=2Fs0t7 A= U3 XS 90,000 0 90,000
307 2iz2to| A 90,000 0 90,000
04 OIZ2tSHAFALS B X 90,000 0 90,000
OXIBS0IR H2AY 3
112,500, 000& *80/ 100 90,000
K-2l F=LI0 BHIOAAMNS X 200,000 200,000 0




AN MOISH = A 0
I MNE=

¢elr U AZE NE (SH9: &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 200,000 200,000 0
04 DI2HHALALSE E X 200,000 200,000 0
OK-eld =L 3mA&ia 200,000,000 200,000
AEUE =203 XJA<EBE> 50,000 50,000 0
< 25,000
Al 25,000
307 glz2+ol & 50,000 50,000 0
< 25,000
Al 25,000
04 QIZFHALAIH B = 50,000 50,000 0
OZa=EL HNEIUE s20U3 50,000,000& 50,000
< 25,000
Al 25,000
AEUE S0 XJA<EE> 50,000 50,000 0
< 25,000
Al 25,000
307 21201 A 50,000 50,000 0
< 25,000
Al 25,000
04 DIZHHALALSE E X 50,000 50,000 0
OZ&4EE XNEE SRS 50,000,000& 50,000
< 25,000
Al 25,000
SYEMFE REUHE X3 14,000 14,000 0
307 glz2tol & 14,000 14,000 0
04 DIZHHALALSE E X 14,000 14,000 0
OSYMMER M= 2571 L4858 |
3 17,500, 000& *80/100 14,000
ZEZMELEHIE 2E &2 HEUEWS X3 29,000 28,980 20
307 gl2tol & 29,000 28,980 20
04 DIZHHALALSE E X 29,000 28,980 20
OXS=ZHMEL=HIE LE ¥= HHEQEN
3 36,250,000& *80/100 29,000
d= FR0E AR 9,000 8,820 180
307 21201 A 9,000 8,820 180
04 QIZFHALAIE B & 9,000 8,820 180
O&= U3 11,250,000& %80/100 9,000
IS 2ME) SZEUE S0 XS 10,000 9,800 200
307 gl2tol & 10,000 9,800 200
04 DIZHHALALSE E X 10,000 9,800 200
OZSMYANSAIRD S8UE =203
12,500,000& *80/100 10,000
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AN MOISH = A 0
I MNE=

@2 FUHe AXZX DE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
2L NMEAMED E&eld or2is X 10,000 9,800 200
307 gl2tol & 10,000 9,800 200
04 QIZHH AL AR 2 & 10,000 9,800 200
OZSMYAMSALRD| Zste|D ok2us
12,500,000& *80/100 10,000
ZEEd=EHoE 83 228 =8 F2Us X 15,000 14,400 600
307 21201 A 15,000 14,400 600
04 DIZHHALALSE E X 15,000 14,400 600
OZHEYEHIIY M2 242828 570
2 18,750,000& %80/ 100 15,000
ZEE0gE A= HHESENS N& 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
OZ=&ogs 3= HEEHS
12,500, 000& %80/ 100 10,000
FYUB)| M= 7AYE =AUS X 32,000 32,000 0
307 glz2+ol & 32,000 32,000 0
04 QIZFHALAIH E = 32,000 32,000 0
OggYI 8= F44E FFRUS
40,000, 000& *80/100 32,000
SUOALEEE A= BtSOs & 22,000 21,600 400
307 glz2tol & 22,000 21,600 400
04 QIZFH AL AR 2 X 22,000 21,600 400
OSLotALEH &= HISO3
27,500,000% *80/100 22,000
= - 22 LEE AU N2 10,000 9,800 200
307 gl2tol & 10,000 9,800 200
04 DIZHHALALSE E X 10,000 9,800 200
Oli= - 3= LEEFUS
12,500,000& *80/100 10,000
SR d= S0sSsd AHAUE X& 40,000 0 40,000
307 21201 A 40,000 0 40,000
04 DIZHHALALSE E X 40,000 0 40,000
ORI =2 sy AU
50,000,000& 80/ 100 40,000
MEXs 83532 20U X2 10,000 9,800 200
307 21201 A 10,000 9,800 200
04 QIZFHALAIH B & 10,000 9,800 200
Odexs =53¢ 72U
12,500, 000& %80/ 100 10,000
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AN MOISHSsASD
I MNE=

@2 FUHe AXZX DE (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ZEAEH =2 EctolisEUa X 36,000 39,900 A 3,900
307 gl2tol & 36,000 39,900 A 3,900
04 DI2ZHHALALSE E X 36,000 39,900 A 3,900
OXESAZH = EctOI=EHS
45,000, 000% *80/100 36,000
o 2= SEUE oFRUE X 16,000 16,380 A 380
307 21201 A 16,000 16,380 A 380
04 DIZHHALALSE E X 16,000 16,380 A 380
OFYorll 3= SEHE 0tRHS
20,000,000& 80/ 100 16,000
ZEAEH SBO2EHe & ¥ REBCIHS X2 16,000 0 16,000
307 21201 A 16,000 0 16,000
04 QIZFHALAIH B = 16,000 0 16,000
OZSAEH 2CEEUH R E=FEIGCH
3 20,000, 000& %80/ 100 16,000
HeEsY 28 =E Z&Us XA 24,000 0 24,000
307 glz2+ol & 24,000 0 24,000
04 QIZFHALAIH E = 24,000 0 24,000
OflEsY «+=2Exd Z&U3
30,000,000% *80/100 24,000
HMEAE =4 2 22l 12,055,159 17,297,162 A5,242,003
< 450,000
Al 11,605,159
SSHSAE &= 2,897,106 5,867,213 A2,970,107
201 ¢et24l 40,000 40,000 0
01 At 2t 2l 40,000 40,000 0
06. 2%t & 40,000
-HE2sE URE 20,000,000& 20,000
- NAHe MSAE WR= 15,000,000 15,000
-¥olH dAe MESAE URS
5,000,000& 5,000
401 Al HIZ 2018 2,825,076 5,827,213 A 3,002,137
01 A& HI 2,820,000 5,770,000 22,950,000
OZe2sd 2ets & dZ2 WHBA
100,000, 000& 14! 100,000
O8Hel HULAE &5 % HEF=SA
150,000, 0002 14! 150,000
OX0E g8 &2 & otFI| WA
50,000,000 =14l 50,000
OZYAHAAEYE ANESHI &X
300,000,000 » 14l 300,000




2AHd: MOIESXM =4t
)

3 Msae

el MSAE X8 @ B (29:29)
SA - BB B () - MM - BES Ol &t o San HmEET
OZFAUHAAE =HEHl WHSA
20,000,000 =14 20,000
OS0l= HOIE=SZ AXSA
100,000, 000& 14 100,000
OSEs Z&FE AL HHSAM
100,000, 000& * 14 100,000
Olls sSXaa ZAFE &N wHSAM
30,000,000& =14 30,000
O =7 A0 WHSA
100,000, 000& * 14! 100,000
O SSHEANE &EX € E=
200,000,000 =14 200,000
O LEE Z2&F FHISA
300,000,000 =14 300,000
O EI2HSs2 SFESAM
650,000,000 =14 650,000
©) S2 M2 SE2M
200,000,000 =14 200,000
O QI2SE AEH E2ZA
100,000, 000& * 14! 100,000
O Z2o1E W IIE S0l d EAHSA
40,000,000& =14 40,000
O SO0F7E &3 At 80,000,000 14! 80,000
O S ANOESE OFAEBEAE &X
30,000,000& » 14 30,000
O 28 II3=s2d x4
100,000, 000& * 14! 100,000
O ZEe AHOESE EXSA
100,000, 000& 14! 100,000
O Ed ZIIE HIIAUYSA
30,000,000 » 14 30,000
O&& AHOE=SE E==3A 40,000,000& *14! 40,000
03 AIE 2 THHI 5,076 7,213 A2,137
OZSHSALE=S ALRUH
2,820,000, 000& *0.36/100x50%<& 2> 5,076
405 THobH S| 32,030 0 32,030
01 Xt =3 Sl 32,030 0 32,030
OX S MRS JtF 32,030
2 K% 100,000& 564 5,600
MNEE 200,000& =124 2,400
MEE 200,000 *324 6,400
g oK 300, 000& *8H 2,400
275,000& *4 4 1,100
MNEE 300, 0002 =4 K 1,200
A28 400,000 *4H 1,600
=g 290,000 =14 290
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2N
X ZH -
L= B

el

B AL=) =
HEALd =4 2 2

MOFS M = 4t
)

SUASH (2L 22/HS)
el

=

SH-HH . B(SH) - HBAMY - B2 O At 0t il 2
-AE O Xt 50,000& =24 100
=48 g 270,000 =184 4,860
-1} 330,000 =164 5,280
-8 X 200,000& =44 800
HMEAE X2 317,555 258,429 59,126
101 @1 21| 4,837 4,156 681
04 J|IZtH2ZXNEE S 4,837 4,156 681
O33HMEAE M= 2 &CZD 4,837
ePiR==1 60,2403 *6H 42 x33] 4,338
A28 JI282E23 4,338,000& *11.5% 499
201 Bt A H| 82,430 54,012 28,418
01 AP 22l Yl 5,840 5,360 480
O1.dEtx=2H| 2,000
Al 2te] Yt Z2H| 2,000,000 2,000
O5.= &l 3,840
“HMESAd2e SRFE AUAAZR2A =4
8,000 x4Hx10d x12& 3,840
02 33294l 76,590 48,652 27,938
O1.383224HA 75,462
MRS 6,000
CEHMY A3 200,000& x12& 2,400
lHAZ (M XIg2E) JIE
100,000& *12& 1,200
MUHZATRH 200,000& = 12& 2,400
-AolEE AMEES 200,000& x12& 2,400
- RLER2(YEH 330& x1,400S 462
-EIEisd dIIe3 2,800,000& x12& 33,600
-OIA2S)| 7 SXSHaAMALEH
3,000,000& 3,000
-0FAAAHOIE MIIR2 S 30,000,000& 30,000
O3. Al & &Hl = Xl dl 1,128
“AZ2RXH (A WA EF) 6112 *1,846m 1,128
202 O B 4,320 4,320 0
01 2L Y| 4,320 4,320 0
OMESA&2e dRFXAYI
60,0003 #4H 32 x63] 4,320
206 M = Hl 2,500 2,500 0
01 M= bl 2,500 2,500 0
OMESANEE BExME 2LH| 2,500,000& 2,500
307 212t01 & 93,000 93,000 0
05 A2t E = 93,000 93,000 0
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AN MOISH = A 0
I MNE=

el MSAE X8 @ B (29:29)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
OIS AILHAIHZ 012t E 43,000,000& 43,000
OxEsNISHs2 D2 E 50,000, 000& 50,000
401 AlEHIZ 201 Y| 130,468 100,441 30,027
01 Al&H| 130,000 100,000 30,000
OMESAE A2 100,000, 000& 1Al 100,000
Ozssesd &MOEE A2
30,000,000 x 1Al 30,000
03 AlE 21| 468 441 27
ONMESAE A2 Ald=20]
130,000,000 0.72/100%50%< & 2> 468
HEAE SsXI<EX> 902,835 301,080 601,755
& 450,000
Al 452 835
401 AlEHIZL £ 0HY| 902,835 301,080 601,755
& 450,000
Al 452,835
01 Al&H| 900,000 300,000 600,000
OASMEHY RS A ALANSL2Z ZH2A
30,000,000 x 1Al 30,000
= 15,000
Al 15,000
OLEM=s ZdSA 400,000,000& * 1Al 400,000
o=t 200,000
Al 200,000
OLE==H =XE AXZSA
160,000, 000& x 14! 160,000
= 80,000
Al 80,000
OUtis HLel HoAE &AXSAl
80,000,000& = 14! 80,000
== 40,000
Al 40,000
OX= 228 a3 & gte HHZ2AE
30,000,000& = 14! 30,000
== 15,000
Al 15,000
OMUls ZAFHE HUHIZ2AH
200,000,000 » 1Al 200,000
o= 100,000
Al 100,000
03 Al&E 201 Y| 2,835 1,080 1,755
ONMSAE =X A2
900,000,000 *x0.63/100%50%<& 2> 2,835
& 200 XMFHAHAE 3,805,130 5,406,750 A 1,601,620
401 Al HI L 204 HI 3,805,130 5,406,750 A 1,601,620
01 A& H| 3,800,000 5,400,000 A 1,600,000
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SN MOISHS

&t
3N MsNEsY

EaOUN= ) =
Sl MSAE X4 U B (S &2)
= d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OXEILUNSHEH A& 3,800,000,000 x14) 3,800,000
03 Al S HHI 5,130 6,750 A1,620
OZEICUNMSHEH HE AIE=2UH
3,800,000, 0002 0.27/100%50%< & 2+> 5,130
AN B BES(HMSALEE) 3,630,733 3,692,507 AB1,774
09 MEZ 3,521,476 3,572,032 A 50,556
01 SAt- SHINEES 3,521,476 3,572,032 A 50,556
OAE 2l HSAEE LT ES 3,521,476
-SE30NE 1,088,902, 000& 1,088,902
-=0H=dH 307,255,000 307,255
-Eetd A 1,303,821,000& 1,303,821
-AEdE 225,086,000 225,086
-“EEFRE 499,879,000 499,879
-gtolg 96,533,000& 96,533
404 SASHIAE2EES 109,257 120,475 A 11,218
01 SAt - SEHI=SEES 109,257 120,475 A 11,218
OAME 22l HSAYE AN=dEs 109,257
-SE3INE 35,062,000& 35,062
-=eM=4dH 14,898,000& 14,898
-Zetd 16,101,000& 16,101
-AEdE 11,500, 000& 11,500
—ZEOoFRE 10,596,000 10,596
-grorg 21,100,000& 21,100
SRS (AY) IEZSY L 2L A 501,800 0 501,800
401 Al HIZ 201 8] 501,800 0 501,800
01 A& HI 500,000 0 500,000
Oouszisa (oY) JIx=E22 L B=IA
500,000,000 » 14! 500,000
03 A& =TI 1,800 0 1,800
OEPEI*I{I Z(orold) D=2 2 B3 A
| & 2 TH 4l 500,000,000 *0.72/100%50%< & 2t > 1,800
HHE2LAZHI (MOISMS &S ) (I1EH/IIE 102,964 108,552 25,588
olet 2 | 32,116 27,868 4,248
FAMUE 2| 32,116 27,868 4,248
101 @124 Hl 32,116 27,868 4,248
03 RIAHAZ 2T E =+ 32,116 27,868 4,248
OMOts2sSZAXIIE2(Qdns2 LE) Al
d22c] Y oL 32,116
-JleEs 1,105,640 x1H x12& 13,268
-d0= 1,105,640& »1H x450% 4,976
-HEF Ot 1,105,640& « 1 «120% 1,327
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2N
Y 2IIH(MOISNSAY

el

X ZH
S =

MOtS M = & ot

HE2
el 2l

H) (D1 EFH/DIE})

= _ — d =
SA - BB B () - MM - BES e
- U A 130,000 x1H x12& 1,560
-wE 22| 70,0003 x 18 «128 840
-AHESH B+ Y 467,080& 18 43| 1,869
-hEE 120,000& 1H 128 1,440
—AX = 55,3603 x 18 16 886
-2 EIHAS 30,0003 x1H«128 360
-H32=g 1,105,640 =18 *15%*23] 332
-Aesd 1,105,640 »1H x10%* 123 1,327
=S0HZFE 327,5703 18 128 3,931
|23 bl 70,848 80,684
f A2 6,768 7,184
201 £B-2d | 6,768 7,184
01 AR 22| 6,668 7,084
ORN2Y el 3,860,000& 3,860
ORAM2Y =gt 1,224,000 1,224
O=A2 & xt 132,000 x 10+ 12& 1,584
02 =224l 100 100
ORN2Y 22R= 100,000& 100
AR FA N 60,480 69,300
202 oddl 60,480 69, 300
01 SLHOIYI 60,480 69,300
OFYUPFAAHE 20,0008 *16F 152 122 57,600
OMZUEZSAHEl 20,0003 x16H «3 +x3& 2,880
g =nY| 3,600 4,200
203 YR =&t 3,600 4,200
04 FN2ELSZ=TH| 3,600 4,200
ORMSLERFHI(ZR:17)
300,000& »12& 3,600
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